
USER'S MANUAL

PATIO  STOOLS & BAR CHAIRS
SHANKS  SERIES



Max Weight Capacity
300 lbs  [Do not stand on the item]



3

1 x 2 x x3 x 4

x5

A x

M6*55 M6*40 M6*20

M6M6

B C x xD4 PCS

1PC 1PC 1PC

x 4 PCS 2 PCS

Support Bar

2PCS x6

Seat cushion

1PC

4 PCS

Front leg Rear leg

1PC

Seat Backrest

M6*50

xxxxxxxxE 12+2 PCS xxxxxxxxG 1PCxF 10+2 PCS



4

2

3
6

5

51

4



1

2

5

80%

100%
80%

F x2

x1G

x2BConnect the seat ④ and front leg ① 
with bolts and tighten to 80%.

Note that the installation direction of the
 support bar ⑤ is based on the position of
 the drain hole in the close-up picture.
 (After installation, the drain hole face down.) 
 Tighten the support bar ⑤ to 80%.

4

E
F
B

E
F
B

x2E

80%

100%
80%

x1G

x4C

x4E

1

4

5
5

C

E

C

E

C

E

C

E

1



6

3

E
F
B

E
F
B

1

4

2
5

5

80%

100%
80%

F x2

x1G

x2B

x2E

4 Connect the rear leg ② and tighten to 80%.

Connect the rear leg ② and tighten to 80%.

1

4

2 5

5

D

D

F

F

80%

100%
80%

F

x2

x2

x1G

D



7

5

6
80%

100%
100%

Tighten all screws in the previous steps to 100%.

The back of the seat 
cushion is fixed on 
the seat plate with
two buckles.

80%

100%
80%

E
F
A

E
F
A

E
F
A

E
F
A

Connect the backrest and frame with bolts
and tighten to 80%.

F x4

x1G

x4A

x4E3

5

5

1 2

4

6



8

7 Adjust the leveling feet for balance.


